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Data Sufficiency &aro% DoTRS

Note:In the following 20 questions each question 1s followed by data in the form of two statements labeled
as I and II. You mmst decide whether the data given in the statements are sufficient to answer the
questions. Using the data make an appropriate choice from (1) to (4) as per the following guidelines:

a) Mark choice (1) if the statement I alone is sufficient to answer the question.

b) Mark choice (2) if the statement II alone 1s sufficient to answer the question.

¢) Mark choice (3) if both the statements I and II are sufficient to answer the question but neither
statement alone is sufficient.

d) Mark (4) if both the statements I and II together are not sufficient to answer the question and
additional data is required.
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Sub questions

Question Number : 1 Question Id : 6116304182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the integer n?

Qrgrofo n IB?

I.  nisamultiple of 5

5 cﬂn% fedao n

II.  nandntl are prime numbers

n, n+1 e D" Jr(]{}a:}ﬁm

Options:
1.1

R

33



4 4
Question Number : 2 Question Id : 6116304183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Is the integer n odd?
o a_ =
2rgroSo n £3e0 20377 7
I. n’iseven
3 ¥
N 28 ~oay

II.  (n+1)®1s divisible by 3.

3 3 (n+1)° erfodercresnod

Options:
1.1

o]
L2

Rl
J= L

Question Number : 3 Question Id : 6116304184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
What 1s the area of trnangle A ABC?

gzbao A ABC cﬁ_uéb LT V0 JoD?

L. A ABC 1s 1sosceles

A ABC 25 Ra0dgeram gebao

IL A ABC 1s mscribed mn a cucle with center A

A So@o TP (10 28 dyeto &5° A ABC esoesdDedo

Options:
1.1

k-2
L-2

oW
[ R Y

Question Number : 4 Question Id : 6116304185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What 1s the average of a. b. ¢. d and €7

a, b c, d ndbain e & it Joed?

I at+tb+c=20-d-¢

II. d+e=38

Options:
1.1

k-2
L-2

oW
[ R Y

Question Number : 5 Question Id : 6116304186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Is the positive integer n 1s divisible by 487

48 & O/ QFgroSo N arfonereor?

I.  nisamultiple of 12

12 r:ﬁ:ué.zr 28 odao n

II. 32 divides n

n & 32 erfinod

Options:
1.1

k-2
L-2

o
J= L

Question Number : 6 Question Id : 6116304187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Is PQES a sqaure?

PORS 2,8 9630000577

I. PR>QS

I PQ=0R=R5=5P

Options:
1.1

k-2
-2

oW
J= 0 wa



Question Number : 7 Question Id : 6116304188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 15 the total number of students in the class in which 24 are boys?

24 ee0dd (v B6ISeS” Aso Dorde) VoS Jos?

I.  The student strength 1n the school 15 284

e3 araFe) €570 Doegge Dowy 284

II.  The ratio of boys and girls i the class 15 4 : 3

&5 00 &5 erend , 50 Dyd 4: 3

Options:
1.1

k-2
L2

o
[ R W

Question Number : 8 Question Id : 6116304189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is distance between A and B?

A,.Be m:;‘;é AP C0a0ed?

I. A person P walked from A to B in 50 muinutes at a speed of 6 Kmph

A &oc B £ 28 2022 P 6 kmph Do & 50 Dduared® Heared

II. A person Q took 10 minutes to reach B from A on a motor cycle.

A foc B 3 2,8 20 Q rerd PGS D 10 DDoare’® Sthoey .

Options:
1.1

o]
]

oW
d= 0 La

Question Number : 9 Question Id : 6116304190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



How many women are needed to complete the work in 10 days?

w8 DI 10 Tared® HPHBaLEEIS Joe o Peo 5°ad

I. 6 men and 8 women can complete the work in § days.

& DI 6L YD , 8 od Jew B 8 Fares® 1§ SavvW.

II. 4 women and 3 men can complete the work in 16 days.

&5 DD 40 e, ANHA WD $B 16 Bered® H1g danriow.

Options:
1.1

L2
-2

oW
[ R W

Question Number : 10 Question Id : 6116304191 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the total interest on principal amount Rs. 20,000 for two years period?

2 DoDONT"Y’ e Ar.20,000 DSy Do & Joed?

I.  The rate of interest is 8% per annum.

ag Gea 0BNTDS 8 %

II. It 1s compounded every quarterly.

DS D POV EIB BE HETT B,

Options:
1.1

k-2
L2

o
[ R W

Question Number : 11 Question Id : 6116304192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Is the triangle with sides a, b and ¢ equilateral?

Zoadnoew a, b, ¢ en TPe GZhao DOALET T GEaar?

¥ 3
I, al=h'+¢’

1L a<bte

Options:
1.1



k-2
-2

B W
[ A WY

Question Number : 12 Question Id : 6116304193 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How much amount 1s needed to fence the circular field?

DTS0Y) o) Sodd HOLEEIS Joed Taw), DVGo BB ?

L The radius of the field is half of its diameter.

es sTe)n a‘*ﬁrﬁ“gn ﬂ“é'&)ﬂﬁjﬁ w0o.

II.  The diameter of the field 15 200mts and the cost of fencing is Rs. 10 per meter.

es oo arj0 200 ., S0l DaDIEAS DS HHd £ 6 10 a)aLod.

Options:
1.1

k-2
-2

oW
J= 0 wa

Question Number : 13 Question Id : 6116304194 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a triangle ABC. LB = 90°. Then what is AB: BC: CA?

28 ggbeo ABC. & LB =90° exand expyeo AB: BC : CA

I Tan C =1

II. Sin"A+Cos"A=1

Options:
1.1

k-2
-2

o
J= L

Question Number : 14 Question Id : 6116304195 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What 1s the length of the train?

es Dew SFED) Joed?

I.  The train crosses a man standing on the platform in 15 seconds.

S 00 G Deyd) 250D TrENd €5 Fen D 15 Do DOBA

II.  The train crosses 1ts own length 1n 25 seconds.

e3 Jew o@D TEDHRD TN 25 D80 HEDB0E.

Options:
1.1

k-2
L2

o
[ R W

Question Number : 15 Question Id : 6116304196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
What 1s the slope of the line / in the xy —plane?

Xy edeo e 20w B | GI0E), Tren Does?

L. [ passes through origin.

Qredody oo | Taod

II. [ passes through (1, 4)

(1, 4) o | Fevod

Options:
1.1

-2
-2

B W
J= L

Question Number : 16 Question Id : 6116304197 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the area of the triangle whose sides are a. band C?

a, b, ¢ en Zoarenrr o GZoaa) LT V0 Joeh ?

I. a+b=14

1L b +C

18



Options:
1.1

k-2
L-2

oW
[ R Y

Question Number : 17 Question Id : 6116304198 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In how many days a piece of work can be completed by three men A. B and C?

28 DA A, B, C en £82 Iy Bered” rf dabyiod

I.  Individually A and B can do the same amount of work 1n a day.

w8 Beres” A, B e {300 S DI a0

1L C can do double the amount of work than that of A.

A 35 HI3 C Sanne D Bos.

Options:
1.1

o]
L2

oW
d= L

Question Number : 18 Question Id : 6116304199 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the product of divisors of the natural number n?

walea, "n}najs n 031}53} RSV VB0 S ?

I. Gl iiieuis di are all the positive divisors of n
d, ds; ... di® cﬁné& E’:’;L c,’m“e“_’%é RN DY)
1L n==¢2a
Options:
1.1
33
44

Question Number : 19 Question Id : 6116304200 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



For real numbers x and v what is the value of x+.2y?
IPa) WOBFED X , Y O X + 2Y DD JoB?

L. x>0 y8
II. x'+4y +4xy=0

Options:
1.1

k-2
-2

oW
J= 0 wa

Question Number : 20 Question Id : 6116304201 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the ratio of the length to the diagonal of a rectangle whose dimensions are a and
b?
a , b en Feaeonrr o &:gﬂmﬂ‘{ga‘*ﬁm TE), DEGow DG Joed?

I. 4a’+9b>=12ab

IIL az=0, b=0

Options:
1.1

k-2
L-2

oW
[ R Y

Question Id : 6116304202 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (21to 30)
Question Label : Comprehension



Problem Solving  2303r5 3633
Sequences and Series @&EdIren, FrdRD

Note: In each of the Following 10 questions a sequence of numbers or letters that

follow a definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence without
breaking the pattern.

ArSd:  §06 AN 10 HF) 085 08 DS BD\D Doaen T WETLD T wE
SRRGRD DADAFY) LT 0. DA 23)S°D VD FDND TR0 Py
Ao WO oD BarEL ;}:‘:nlg)f:) G AaaATISE  Foffo Seniritiore
TBoTd).

Sub questions

Question Number : 21 Question Id : 6116304203 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

216:6 2512

Options:
1. 8

[
=1

Question Number : 22 Question Id : 6116304204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

R : 819
Options:

, 66

01

-2

80

4 S8

Question Number : 23 Question Id : 6116304205 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

15.: 223 287



Options:
p 13

17

o]

19

Question Number : 24 Question Id : 6116304206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

R i

Options:
1 78

82

L2

3 96

108

I

Question Number : 25 Question Id : 6116304207 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

POSH : SHOP :: : LEAP

Options:
| PLEA

APEL
PALE

APLE

Question Number : 26 Question Id : 6116304208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

2064 729

Options:
1. 6



Question Number : 27 Question Id : 6116304209 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

AFI: CHK :: EIM :
Options:

| GKO

GOK

k-2

KOG
3

4 OGK

Question Number : 28 Question Id : 6116304210 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Bl: 59 :: - 1121

Options:
| OU

KU

-2

T

4, PU

Question Number : 29 Question Id : 6116304211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

HOSPITAL : PATIENTS :: SCHOOL :

Options:
, TEACHERS

, CLASSROOMS



: BLACK BOARDS

, STUDENTS

Question Number : 30 Question Id : 6116304212 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

€. XuF:
Options:

 F

[
o

3 U

1':'-

Question Number : 31 Question Id : 6116304213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the Following questions pick the odd thing out.

8065 ADD DB S DO T (HYocsw

Options:
1 43

5 67
; 89

, 111

Question Number : 32 Question Id : 6116304214 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the Following questions pick the odd thing out.
8068 ADD DB S DO T DB (Do

Options:

 FG



Question Number : 33 Question Id : 6116304215 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
In the Following questions pick the odd thing out.

8063 ADD DB S DO TV (Do

Options:

7111

13/17
9/16

3/5

Question Number : 34 Question Id : 6116304216 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
In the Following questions pick the odd thing out.

8068 BND V3OS 0B TIB (HGoes1A

Options:
 (5.29)

(6.35)

-2

(7.48)

(9.82)

Question Number : 35 Question Id : 6116304217 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the Following questions pick the odd thing out.

8063 ADD DB DO TV (HYorisdw



Options:
1 124

142

L2

Question Number : 36 Question Id : 6116304218 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

H30DE: S0 NN HHen 28 PDNBAND DADEFDY FDPT 0w, e
DoAY (Do) HOODA PATFT TS erPeRd Qrdood.

0.28.126.  .1332

Options:

; 456

426

L2

Question Number : 37 Question Id : 6116304219 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

HODE: S0 ':96)')&‘: D¥en 28 PANBAD JahArdy FOPT)ow. e
DoDHBP (VoD LODHD VIFTTOE TP Prdotsol.
P3C. RSF.TSLVI2L.

Options:

1 X150

Y170

]

X170



4 Y16M

Question Number : 38 Question Id : 6116304220 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

H0DE: Socd ra%b D3 e 28 DSBS JaHIFEY FBROT oW, €
DaArDY AV DBADAD Darrorod ardos DPotiod.
99,80, 63.48. 24,15

Options:

45
1

40

L]

5 33

30
4

Question Number : 39 Question Id : 6116304221 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

K DE: S06 AN DB 28 PDBIOND DoDIEYY BT 0w, &
DaArDY AVoD DBADD DArood a0 DPBotiod.

C.D A K M

Options:

p Q

R

Question Number : 40 Question Id : 6116304222 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

HODE: S0 @Q)a‘: D¥en 28 PANBAD JahArdy FOPT)ow. e
DaHBPD (VoD HOCDHD VIFTTVE TP Prdotsol.

1261531, .9

Options:

i 58

A7

~

5 64

4. 56

Question Number : 41 Question Id : 6116304223 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill in the blanks with suitable answers.

HB0DE: S0t BND P 28 PDNIOND DoLEFDY FBRTYaw. &
DAY (Do) HOODA RATFTTOS Yo Qrdowod.

7,13, 21, 31, 43, 513

Options:
| 48

57

L2

3 61

, 64

Question Number : 42 Question Id : 6116304224 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

H30DE: S0 NN HHen 28 PDNBAND DADEFDY FDPT 0w, e
DoAY HDoD) HOODA PATFT TS erPeRn Qrdood.

-1, 6, 25, 62, 214,

Options:



106
- 4

a7

Question Number : 43 Question Id : 6116304225 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

H0DE: SoB NN HHew 28 PDNBAND DADEFDY FOPT ow. e
DoAY (Do) HOODM RATFT TS erPeRd Qrdowod.
< |

10

Question Number : 44 Question Id : 6116304226 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

K DE: S0B AN DB 28 PDNBIoND DoDHIEDY BT 0w, &
DoDAPDY ABVoD HOADA DAPTTOS ePPOD DPBoSod.

3. AL 116

Options:

, 3 .43



L2

Question Number : 45 Question Id : 6116304227 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

H0DE: Sodd "QQ)F() DD 1€ PDAIDOND JODAFIY FOYT) 0. e
DoAY BN HOADHA VATEFTOS arPeR QrOowod.
DFIK, GILN., JLOQ,

Options:
| MORP

, MROP

MORT

Lia

 MROT

I

Question Id : 6116304228 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 48)
Question Label : Comprehension



Data Analysis cgro® DFee

The graph shown below gives the sales of the weapons during the vears 2008 to 2016.
Study the graph and answer the following questions

& 306 D ° 2008 ol 2016 0B B000 06l e3aiGTY DEAITFOA) BODED
aod. & IO D wEgamo 3D So6S ‘HKZ)')E{'] 23) VLD DIFEVo Tl

45

b
Lh O

N

2,
)
33
Z b s y
s 7 /
=9 20
= /
'_-;-:g 15 /
_g 10 7
9 5
0
2008 2010 2012 2014 2016
year
"raai‘.‘)ﬁbd-u

Sub questions
Question Number : 46 Question Id : 6116304229 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

During which year . the sales witnessed a sharp downfall?

& D000 &5° 920 57D WS TPEIDA LB 50T 0D

Options:
1 2008-2009

2014-2015

4 2010-2011

2011-2012



Question Number : 47 Question Id : 6116304230 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

During which year the sales witnessed a sharp rise?

2 D0IHYG0e5” LAV wE TEGDM D@ SHedToD

Options:

| 2013-2014

2014-2015
2008-2009

2014-2015

Question Number : 48 Question Id : 6116304231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

During which year consecutive sales witnessed downftall?

9 o S moﬁﬂgmuéﬁ €93} 5°80 20D EaH8Tron

Options:
1 2010-2011. 2011-2012

2011-2012, 2012-2013

k-2

3 2009-2010. 2010-2011

4 2008-2009. 2009-2010

Question Id : 6116304232 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (49 to 53)
Question Label : Comprehension



The followimng pie chart shows the marks obtamed by a student m five subjects. The total
marks obtained by him 1 all the five subjects are 900. Study this chart and answer the

followmg questions

& 2o P Do 2.8 DY 5 PSS B0 APE) R STEDBT. &8 DA DPgES’
e DEPgR BoydD) Ara e 900, € DEP) BEIEL0 B S0t AWND DF) VD
RaArrde TPoot

english
(es0tfo)

o
80 chemistry

(Brais

FR0)

700
mathematics
(riedeso) physics
9Qo (&Fras

Ro)

80°

Sub questions

Question Number : 49 Question Id : 6116304233 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Marks obtained by him in mathematics is

e9E9¢5) (iededo e5° By ATAY 0

Options:
| 228

225

]

224

226

Question Number : 50 Question Id : 6116304234 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The marks obtained by him 1n physics 1s

TAE TYPo & B By DD AT e

Options:

, 180

220

5 200

190

Question Number : 51 Question Id : 6116304235 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The approximate percentage of marks obtained by him in English in total marks 1s

ADB0 AT ©ES° A e30(10eS” BN D) AP LD FB0 GO
Options:
;| 21.8

. 204

232

[ ]
[
[ 4]

Question Number : 52 Question Id : 6116304236 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The total marks obtained by him in two languages together 1s

S0t arees” S0 e By ) B0 ATE) L0

Options:
;300

320

k-2



Question Number : 53 Question Id : 6116304237 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The percentage of marks obtained by him in Telugu alone in the total marks

0G0 0702 ©S° DD S°ATBD BB B A TS0

Options:

92%
1. 9

1
115

40

Question Id : 6116304238 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (54 to 55)
Question Label : Comprehension

In the Venn diagram given below. n (A) = 24, n (B) = 30. and n (C) = 36. Study this
diagram and answer the Following questions

& BMHDD oWAND DO DG Do & 1 (A) = 24, n (B) = 30 adoiw n (C) = 36. &

DEFY GO 3D S0 mrﬁaa‘) 0F) 0D VATGEHo Tradod

A B

\/

Sub questions



Question Number : 54 Question Id : 6116304239 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

n(AUB)=

Options:

48

Question Number : 55 Question Id : 6116304240 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

n (AUBUC) =

Options:

»
L i

, 64

Question Id : 6116304241 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (56 to 60)
Question Label : Comprehension



The numbers 0 to 9 are coded as follows by considering the exceptions given below:
S0 585 1 4 2 F »
FCcIlI B A GE J D H

Exception (1): If a number starts and ends with non zero odd digits then the first and last
digits should be coded as P and Q respectively.

Exception (2): If a number starts and ends with non zero even digits. then first and the last
digits should be coded X and Y respectively.

0 0o 9 DHOL (10 WoTVA & BDD FDYD ADIFARYVRD HDAIEIHES’ VS BRVLHD
Sod Do EE BRI,

oy o8 o 1L FE 2 F B

¥ oEL B A 8 3B H

DRVFo0IY 11 w8 Doy FFJGC B 008 & DNET SO0 DAY €3 DGS
00050 DOO woSew HERM P wdakn Q @ €& dongead

DRVFON0IY 2: 28 Do) FPDIBE DO @of & ANGY O HNAR T 206
208050 Db oSen DR X doin Y ob £& Saird

Use this information and answer the following questions
2D mrﬁ;}a‘) ::m:)l EHAAo) & Sod D) VLD DAL o owbleted
Sub questions

Question Number : 56 Question Id : 6116304242 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the code for 389167

389167 A8E DA ?
Options:
1 GIFBHD

PIFADQ

L-2

PIFAHQ

GIFAHD

e



Question Number : 57 Question Id : 6116304243 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the code for 2781407
278140 & §& D87
Options:

, JDIAEC

~ JDIGEC

L-2

- XDIAEY

Ll

;i XDCAFEY

Question Number : 58 Question Id : 6116304244 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following numbers 1s represented by BADGE

& 306 “&‘m;}ﬁ&:ﬁ'ﬁ'ﬁ 26 BADGE & jaordodercesnod

Options:

| 51743

51734

L2

51347

53745
g 3 45

Question Number : 59 Question Id : 6116304245 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following numbers are represented by XABCFY?

& S0 “rauajz{,t:t'iﬁ 28 / 2D XABCFY 4 Lordodercdinod / excaron?

(A) 215096 (B) 815094 (C) 315004

Options:

1 Only A and C

5 OnlyBandC



; Only A and B

4 OnlyC

Question Number : 60 Question Id : 6116304246 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the code for 15384287

1538428 & §& 247
Options:
| ABGIETI

, ABGELI
;. ABIGEII

4 ABGEIII

Question Number : 61 Question Id : 6116304247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a code language ‘SILVER' 1s coded as ‘QGNXCT’ and ‘SHYAM’ as ‘QJWYK’. Usimng
this mformation find the coding and decoding process and answer the following questions

28 & e3¢ SILVER D QGNXCT s 8ok SHYAM O QIWYK s §&

BP0, G DAFEFEADA &0ArAeD Ecofl oAk EECoh HEAHAL SR0E) D & ot
g%&ué DA TPO0c.

Which is code for “DELHTI’

‘DELHI’ & §& 067
Options:
FCNFK

1
FCNFG

3 FCNIG

4 FCNJK



Question Number : 62 Question Id : 6116304248 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a code language “SILVER' 1s coded as ‘QGNXCT and ‘SHYAM’ as ‘QIWYK’. Using

this mformation find the coding and decoding process and answer the following questions

28 & o038 SILVER D QGNXCT & s080in SHYAM O QIWYK s §&

SPD. S DIPTEAN &DAIPAD Edoh B0k GECoh DDA SR0E) D & Sob
0B 08 VITEHo TPooG.

Which string of letters 1s coded as *“FOUR’

D engore) oed ‘FOUR' = & Sogedod

Options:

; DQSP

_ DQWT
, DQWP

, DMWP

Question Number : 63 Question Id : 6116304249 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a code language “SILVER' 1s coded as ‘QGNXCT and ‘SHYAM’ as ‘QIWYK’. Using

this mformation find the coding and decoding process and answer the following questions

w8 & o038 SILVER D QGNXCT & s080in SHYAM 9 QIWYK e §&

BPD. S DOPTEAN &DAATPAD Edoh Batw GE G DD SR0E) D 6 Sob
0B OS VIEDo TP00G.

What is the code for *EIGHT?

‘EIGHT' & 86 267

Options:
| GCEIV

 CEGIV

L-2

; CGEIR



4 CGEIV

Question Number : 64 Question Id : 6116304250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a code language “SILVER' 1s coded as *QGNXCT and ‘SHYAM’ as ‘QIWYK’. Using
this mformation find the coding and decoding process and answer the following questions

28 & e3¢5 SILVER D QGNXCT s 080k SHYAM 9 QIWYK s §&

SPD. S DIPTEANW 6DAPAD Edoh datw GE o Db SR0E) D 6 S0b
08 OS VITEEH0 TPooG.

Which string of letters 1s coded as ‘FLIGHT’

9 evgore) woed ‘FLIGHT e && DODRIC. 00
Options:
; DIKIIR

. DIKIFR

; DIKIFV

, DIKEFR

Question Number : 65 Question Id : 6116304251 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a code language *SILVER 1s coded as ‘QGNXCT’ and ‘SHYAM’ as ‘QJWYK’. Using

this mformation find the coding and decoding process and answer the following questions

w8 & e SILVER D QGNXCT reso d0doin SHYAM D QIWYK meso §&
BP. S DIPTEANW &0 Edoh B0k GE G DD SR0E)D & Sod
‘Q%‘;"ué A0 TrooG.

What 15 the code for *KILL®

‘KILL' & §& 287
Options:

| MIGG

%
Z



, 1GII

Question Number : 66 Question Id : 6116304252 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
34, davabo, B85 DD

What is the day of the week was it on 5™ November 1987 if it was Monday on 4™ April
19882

Dne 4, 1988 Favorto e ardoes” D o Haced 5 1987 ea:neiood

Options:
Wednesday

BT 00

Thursday

DO 60

L-2

Sunday

~e3Gardo

Ll

Friday
ENI=Fuiiels)

Question Number : 67 Question Id : 6116304253 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems

84, davabo, B88Y DD

At what point of time after 3’0 clock the hour hand and the minute hand are at right
angles for the first time?

3-00 (iof)e) G e (10 &0 DD DD VGBI Dy LoeE’taoes”

)OO0
Options:
3 hr 30 nun
j 3 o 30 D.ev



R
3l Sﬂﬁmm

8
3 fio.e» 30 . 1. eXy

A
3hr 32 —min
11

8
3 ffo.ex» 32 5 by W B

9 0 clock
9 (ot

I

Question Number : 68 Question Id : 6116304254 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
34, davabo, Bbsy DD

A watch which gains uniformly .1s § minutes slow at 7°0 clock m the moring on a
Sunday and it 1s 5 minutes 48 sec fast at 7 pm on the following Sunday. Which day was 1t
correctly showing?

Q¢ B3e5° esBod w8 (IEasroo 8 BAIC0 eGabe 7ot 5 Avaren ddgwe (Dvocarr)

E08). ©96 &3 BOTS esdTCo 7. pm £ 5 Dare 482¢ed Do (Dot )b 9d J Bwd
a}é}aﬂmwé ramc:nn.:;u AT aEdobh.

Options:
Friday
S 0o

Saturday
5 Bdar0o

Wednesday
B aTO0

Tuesday
a0Waor00

Question Number : 69 Question Id : 6116304255 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Date, Time & Arrangement Problems
34, davabo, B8y DD

P 15 the father of R and S 1s the son of Q and T 1s the youngest brother of P. It R 1s the

sister of S, how 1s Q related to T?

R cng ©od P. Q ong). £Harcm S udoiw P o). £330 oo T.S oiws
b b b=~ b

oo R esondd |, T & Q Doerodo Doned?

Options:
Sister-in-law
| DBD/ 0660

Daughter —in-law
Ecen

Brother-in-law
e/ Elae DG

Mother-in-law
9T

Question Number : 70 Question Id : 6116304256 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
84, davabo, B8y DD

Reaching the meeting place 20 minutes before 8.50 hrs, Satish found himself 30 minutes
carlier than the man who comes 40 minutes late. What was the scheduled time of the
meeting?

(fo. 8.50 .0 20 HINELL AN VATFDF dDOBTISE BWLV) VHA DAFDTIS
40 DITED BFOVLOTT DD BB Sof 30 DDAFED DAV DT €97
(1200, DATDFDS GO0 VOO Joed?

Options:

| 08.10

, 08.20

08.00



.q
N 08.05

Question Number : 71 Question Id : 6116304257 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
34, danabo, 888y DD

There 15 a metro train between stations X and Y every 15 munutes. An announcement was
made at station that next train will depart in another 11 minutes as the previous train left at
2.18 PM. At what time was the announcement made?

205" gen X &0od Y 90 08 15 Darefse) onenddaned.gen RaR &° 11 dinare
S0 0T 8 Ten 0Denddmeod €7 B0 Mods) Qo Ben 2.18 pm exaibendd

D006 9D HELD SIW. PELD BV VAV Joed?

Options:

| 2.20 pm

2.21 pm

Question Number : 72 Question Id : 6116304258 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
34, davabo, B8sL DD LD

Nine persons J, K. L, M. N. O, P, Q and R are sitting in a row facing the same direction. L
1s at the right of M and at the third place at the right of N. K 1s at one end of the row. Q 1s
seated adjacent to both O and P. O 1s at the third place at the left of K. J 15 next to left of
0. Which one of the following is true?

9 s0od J. K. L. M. N. 0. P. Q c0doin R en 2.8 H0des” wd QSJETQJ CAPRErTTP g}ﬂ{?’o&ﬂ
DT D M £ DHAE DY) ot N £ DHE DY ma"gvaoeﬁ“ L ey . D3 8
200 K apamy . 0, P £ g8 D40 Q pamyed. K £ e Py S0 ES Qﬂ.ﬁeeﬁf O
QDT . O 8 DGR o PR J PHT) (. & 308 763" DO Re50?

Options:



N 1s two seats away from J
, J ood Boo .g“sﬁa}_uﬁ) Grcoes” N DT

M 1s i one extreme end.
S00e° M 208 DHGD DT €.

R and L are neighbors
R andoiw L 2,80 250 b s QDT

Only one Person is in between O and L
O anBoin L aneges” 28 o5 &) .

Question Number : 73 Question Id : 6116304259 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
34, davabo, B8sy DD

. - 66 0 6) — 66
If o and — are defined by a ob =>— anda — b=ab theni =
r a+hb (25o3)

b o (66 06) 66
= Bam a— b=abm 2oy (B =

O andoiy — o aob = (55a5)

a

Options:
60

606

L2

50

Question Number : 74 Question Id : 6116304260 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Date, Time & Arrangement Problems
34, davabo, B8y DD

By applying which one of the following meaning of arithmetical signs will the value of
700—-10 +¥%X35+70=0

& OMD QLIND oEAEIS MMB 2 BGAVA VADJoc)Dd

700 —10 =% X 35+ 70 =0 e9:pé0od

Options:

X means —, + means X. - means +, - means —
1 X 8901 —. + 2900 X, — 90T+, - 8300 —

X means +. + means -, ~ means X. - means +
a XGNP +, + " -, T e X, - 950 +

X means +. + means -, ~ means X. - means —
3 X e9:01 +. + e9:0TT° =, — 90T X. = e9a3° —

X means +. + means -, — means X. - means +
4 X e95° —, + 89071 -, — 890 X, - @9 +

Question Number : 75 Question Id : 6116304261 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Date, Time & Arrangement Problems
34, davabo, B8sy DD

It — stands for addition

«— stands for subtraction

1 stands for division

| stands for multiplication

7 Stands for equal to

Then which one of the following 1s true.

— HPASA, «— Gooan), Te0d aFmafansd) |, [end Mmstanaay 7 end

DA AP0 € 306 ord” DO DeaD

Options:



. 3]672—3—0675
T—43 16 |174
2|5+—6—276

5731274

Mlathematical Ability

Yes
No

Display Number Panel:
Group All Questions:

Question Number : 76 Question Id : 6116304262 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
wolicdeh .%»mgﬁe:&

If f(x,y) = x™.y" and f (413) — k.f(x.y) then k=

f(x,y) =x". y" 08cdo f (4’{%) =k.f(x,y) esonad k =

Options:

an — =
2

_ 2(n—m)

L-2

zzn—m

zm—zn

Question Number : 77 Question Id : 6116304263 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evosicded &mgﬁﬁ

If2*=4Y =8% and xyz = 288, thenx +y +z =

2¥ =47 =87 0bcdw xyz =288. 09008 x+y+z=



Options:
bl
liEss

24

k-2

[ ]
Lh

[ )
[

Question Number : 78 Question Id : 6116304264 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosticdeh &mgﬁﬁ

If 25x2 + 13y + z2 = 30xy + 4yz thenx: y:z =

25x2 + 13y? + 22 = 30xy + 4yz eso@ x:y:z =
Options:
. 3:5:10

3:5:8

k-2

10:5:3

i 8:5:3

Question Number : 79 Question Id : 6116304265 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
ewogricded B'mgaﬁ

A. B and C are co-workers in a company and their total salary is Rs. 94.000/-. The salaries
of A and B are in the ratio 5:6: that of B and C are in the ratio 3:2. If the salaries of C and A
are in the ratio 4:5 then the salary of B ( in thousands of rupees) 1s

A. B andatn Cen w8 S000e° Raf & rben, a8 o &eo . 94. 000/-. A. B © dere)
DG 5: 65 B, C oo D0y 3: 2.C, Ao doro D@ 4 : 5 ©ond B ddo
(Do drarabees’)

Options:
45

Yes



[ -]
L

Question Number : 80 Question Id : 6116304266 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
wolicdeh .megﬁr:ﬁ

IleS—EN’%—E\"E+EJ2_'= \;’E—\-"E+\Ethcnt12—€2 —

J15 — 2435 — 2415 + 2421 = Va — Vb + V¢ eo0d a® — C2 =

Options:

2
l.b 1

b 1

L2

J b(b+ 3)

, b+ 1)

Question Number : 81 Question Id : 6116304267 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evoEicde &omg&ﬁ

V21 — 45+ 83 — 15 =
Options:

| 2—AB=24Z

. 24+45-2V3
2 -5+ 243

2 +V5+ 243



Question Number : 82 Question Id : 6116304268 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evosicded &mgﬁﬁ

When a number i1s divided by 75, the remainder 1s 28. The remaimnder when the same
number is divided by 25 1s

28 Do 75 & rAoaT D3y 30 28. & Doy 25 & arfiode oy 30

Options:

5
L

-2

[ B

Question Number : 83 Question Id : 6116304269 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
wolicdeh Qﬁﬁogﬁrzﬁ

Sum of all integers lying between 200 and 400 that are multiples of 7 1s

200 ol 400 HOS (0 Yrgrostee)” 7 ding), medere Do

Options:

| 8268

8428

.

5 8612

8729

Question Number : 84 Question Id : 6116304270 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
eosticdeh &mgﬁ&

A. B and C respectively take 27, 36 and 45 seconds to run around a track. All of them start
at a pomnt P on the track simultaneously. The number of rounds made by C when all of
them meet next at P 1s

28 950 e8) Doc DMNaErdS A. B, C eo ot 27, 36, 45 HSqen
S0, 90630 2300 ertop Do) P A £)00eNATA). &3 SEElab ey P g
B0 SDDDN1ES C S <o) Doy

Options:
g
p 12

Question Number : 85 Question Id : 6116304271 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evosicded avmgsa

State a pair of numbers, whose sum 1s 184 and whose greatest common divisor 1s 23

aweto 184 essedr aeed (103 ::)“mm?g Zrato 23 ﬁ:ﬁjzsﬁag.ﬁu &ot R0DIL 28 BB
@E_J;)Ga

Options:
1 53.131

69, 115

L2

79. 105

g4, 100

Question Number : 86 Question Id : 6116304272 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
evosicded &mgﬁﬁ

The rational numbers with recurring decimal expansion 0.12 1s

DT TS T Do 0. 12 DA ©5oeian oadg

Options:
5.
1 33

3
o
'm|'=’“

Question Number : 87 Question Id : 6116304273 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosricies &mg&ﬁ

If p 1s the smallest prime with 7p > 5 and ¢ 1s the largest prime with 7 < 497 then the

- P
rational number = =
q

pesdd 7p =5 t&di}ém@:: &ofs 53] RO°D VoA, e9a’d 7q < 497 @Dﬁ)@bﬁ&) ot

(102) 2T oy 900D 9D BECED LoDy 5 =

Options:
1

1. 67
Z

3,58
2

i o7
1

4 71

Question Number : 88 Question Id : 6116304274 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
evosicded &mgﬁﬁ

8
F_J_l-
g'9

=1 | en

3
The greatest among =i

=N |

5
=, — 06 9 DOO
8 o

=R

Question Number : 89 Question Id : 6116304275 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosrrics %vmg‘srj

Ifa=V4,b=15c= V7 and d = V9. then their correct ordering is
a=3V4b=735c=1V7and d = V9 esandd o€ HBowS Lavo

Options:

lac:bcz;cr-:d

Question Number : 90 Question Id : 6116304276 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
eosticdeh &mgﬁﬁ

In a fraction if the numerator is increased by 20% and the denomuinator is decreased by 10%

the fraction becmncsg. Then the origmmal fraction 1s

: B ; 16 i =2
s éjmlotﬁa vy 20% Do), oDy 10% e:ﬁf“@ eg i’:}lﬂ 5 2S00, N IO
@Ffilﬂ

Options:
4

g

1| en

Question Number : 91 Question Id : 6116304277 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evosicded %’omgsﬂ

The total number of students in the class with 36 boys and the rest 55% girls 15

36 2008 ee0d, DAY 55% 00d erden &) BOMBS" Ao DoryEde Vo

Options:
T.-’
1 74

Question Number : 92 Question Id : 6116304278 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
eosticdeh &mgﬁﬁ

Selling two items each at Rs 240/-. a merchant gets. a profit of 20% on one of them and
mcurs a loss of 20% on the other. In the whole transaction the merchant gets

006D DYV wEE) L) 10.240 /- 3 09}, w8 HGE w8 D) © 207 ererd)y,
BofZ DY D 20% delDy Tomr. S 0G0 rTEDS” &1 HEDHIL HVVIB.

Options:
4% profit

i 4% erdio

4% loss
4% R‘)Qﬂ

10% profat
10% erdio

Ll

10% loss
10% &530.
T

Question Number : 93 Question Id : 6116304279 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
woliicdh %‘a‘ng‘sﬁ

A sales man writes the price of each article he sells as 50% above the cost price. He allows
some discount and makes a profit of 20% still. The rate of discount 15

28 0} S0P BB M) PS SWY EI) doP 507 IS TP, TOP
Soed {1377065 DEG0D 207 erdio FotHmrcl. e9edin QN d%‘?}cﬁ Oew.

Options:

20%

-2



Question Number : 94 Question Id : 6116304280 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
oSt awmgsﬁ

A started a business with B joining him mvesting 60% more than the imnvestment of A after
4 months. If B gets Rs 20.000/- more in the vear-end profit then the total profit (in lakhs of

rupees)

A r00D0dd Trgar00es” Trenmh Do BoTS A DEPBE S0 607 L. Devecd B
A E8F). DoDBTR0D erzioes” B & ).20000 /- e3dEorr O ey DS o

(oge) araronees” )
Options:

), 7.2

0.2

k-2

Question Number : 95 Question Id : 6116304281 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
oSt awmgsﬁ

A, B. C enter into a business partnership such that 3 times the capital of A 1s equal to 4
times the capital of B which is equal to 5 times the capital of C. The ratio of their capitals is

A, B. Cen S350 28 Pargay Jrgeircoes” A Depercd 3 Ben. B Dépeds 4 oew,

C Denercsd 5 060 DOTD0. J°0 DEVBICDHY Dy

Options:
A4

5 20:15:12

-

3. 0:16:10

15:18:22
4

Question Number : 96 Question Id : 6116304282 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
eosticdeh &mgﬁﬁ

Two pipes A and B can fill an empty tank independently in 20 nmunutes and 30 minutes
respectively. To fill the empty tank both of the pipes were opened at a time and after 4
minutes tap A is closed. The total time (in minutes) takes to fill the tank is

Doane A, B en DDA 2.8 ﬁeg:) Do HWHT 20 Davaren, 30 DIvaren
HRL0ET0D. ard FOD VoIS Doty HoaPew 3)3};), 4 DOnare) oo Do) A D

QPVDID. &3 FO Docerdd DD Ago davabo.

Options:

L 34

5 30

Question Number : 97 Question Id : 6116304283 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
wolricdh &mg&ﬁ

A pipe A can fill a tank 3 times faster than a pipe B and takes 28 min less time than pipe B
to fill a cistern. If both pipes are opened simultaneously. the time (in minutes) to fill that

tank 1s

Do) B L0865 3 5t I8y D Defore 28 FGD Don(®F Do A, Do) B Sotd 28 dnare
D) D 2a0000ES” &8 FE DodC. € To) DOV DE TS Dadd &5 T
Dot DY Davao (dvarers’)

Options:
;14

1
115

k-2

1
1[}5



Question Number : 98 Question Id : 6116304284 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
ewogricded B'mgaﬁ

If the ratio of the speeds of three trains 1s 3:4:5 then the ratio of the times taken by them to

cover the same distance 1s

QU JHOy DR i@ 3 : 4: 5 0B D 8 AT PO JOIEAS T°E3S
0 VEDAIT DD
Options:

] 5:4:3

20:15:12
P
5 12:15:20

3:4:5

Question Number : 99 Question Id : 6116304285 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosrrics avmgsa

600 meters long tramn i1s running at the speed of 72 kmph. If it crosses a tunnel in 1 minute,
then the length of the tunnel (in meters) 1s

600 20&g TEaHA) 28 Tew (105 72 3.2 Difod¥ DAONB0H. 28 Toorrd) e |

Due 6° oo 3 Foorio Ty (Doeades”)

Options:
| 500

800

L2

5 600

4 900



Question Number : 100 Question Id : 6116304286 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosticdeh &mgﬁ&

A can do a work mn 12 days while B needs 16 days to do the same work. After working 4
days together, B left the work. The number of days for A alone to complete the remaining
work 1s

w8 DAD A, 12 Bared® Lrd Sondene, B § 98 02 28 dabcrds 16 Saven waado
DB00B. TBGAT SN DA Jr00DodDd 4 Tere) BATE B &5 DD HBY Dy
D0ADD DI A 28, E 278 SonerIS HE Bare Roayg

Options:

5

-2

[ ]

Question Number : 101 Question Id : 6116304287 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
oSt awmgsa

If 5 men or 9 women can finish a piece of work n 19 days. then the number of days for 3
men and 6 women to finish the same work 1s

5 avod e, 9 dod ?gw 28 DD RPH SoerdS 19 Faven HAS 3 20o0d
anpew 6 avod f'_\_)m £80 93 0D P8 dabemDd D€ Fever 202§

Options:

12

14

16



Question Number : 102 Question Id : 6116304288 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosticdeh &mgﬁﬁ

-

In a circle of radius 7

(takr'ng = %)

. 77 . ;
cms, a sector is of 5 sg.cms area. Then the sectorial angle 1s

7 20.20 JrgIrgo o) wE Hyee)” 2.8 6 PFTog g €9.200.20 . )N &5 576 Erao
(r = 2 e 820506 )

Options:

3{3
I.D

o
, 45

=

60°

90°

Question Number : 103 Question Id : 6116304289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosrrics avmgsa

The length of a rectangle 1s thrice 1ts breadth and its perimeter 1s 96 cm. The area (in square
centimetres) of the rectangle s

28 é.gamog@ TE T°R) DEBDY £ P Te0. T°D) LANELS 96 o.a €57, e
&gmmcs;g 2750 (09.20.a0 &)
Options:

| 42

432

o]



Question Number : 104 Question Id : 6116304290 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosticdeh &mgﬁ&

A ramn of 2em fall on a land of 1 sq.km. If 50% of ramn water has been driven into a pool
having base of dimensions (200 m X 10 m). then the increase (in meters) of water level of
the pool

w8 HE0R S5 6 Dyde S0 WP P 2 20.8 dGo DEB. S 507 DR 200 &
X 10 a0 &r HBareo () DO DS PR | &5 DOYESD I D0eoes” axboe
(Doeages’)

Options:

5

T

10

Question Number : 105 Question 1d : 6116304291 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
wolricdh &mg&t‘j

One cubic meter of alumimum 1s used to prepare a sheet of 10000 square meters. The
thickness (in cms) of the sheet 15

10000 <5636y At P50 (10 9RPED00 T S SoDETDS 28 DD LD

e20TDACAN0 EDAITHoEd. €5 T svoco(o.a0 e5°)

Options:

; 10

-2

0.1

, 0.01



Question Number : 106 Question Id : 6116304292 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evosicded &mgﬁﬁ

The area of a parallelogram 1s 128 sq.cm and 1its altitude 1s twice the base. Then the base (in
cms) is

28 VA0B0 HAEN PTVL0 128 ©9.20.40. T°) I, DS TLoad). anyEE) &
(20.20 5°)
Options:

9
1.

k-2

Question Number : 107 Question Id : 6116304293 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosrrics &mgﬁﬁ

A rectangular plot of perimeter 46 meters has area of 120 sq. meters. The length (in meters)
of 1ts diagonal 15

46 &g SEPFOBHO BESSOTE0 Yoo T 120 ©9.00.D. &°d DEPo
T (D0eroes®).
Options:

13

[a—
L

17

Question Number : 108 Question Id : 6116304294 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
eosticdeh &mgﬁﬁ

A paper 1s in square form with a side 20em. Two semicircles are drawn on its opposite
sides as diameters. If these semicircles are cut down. the area (in sq.cm) of the remaining

part of the paper 1s

28 5eA0 20 20.20 ZD@0 (1) HEV0IST00eS” aHod. IEOBELM Zharep Jrdd

TGeOrT Do) @98 HyTren Herdd. & 698 IO EB60DDLIT & 57hco &° DHBD

2o Q“E’“E_J'TSG
Options:

; 400 — 200w
. 400 — 100m
, 400 — 507
, 400 —80m

Question Number : 109 Question Id : 6116304295 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
eosrrics avmgsa

32147y m decimal system is

3214(7; GFT08 DHS &°
Options:
3 113810y

103810y

L

114810
4. S

Question Number : 110 Question Id ;: 6116304296 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability
evosicded &mgﬁﬁ

For any mteger k let k™ = 2k — 5. Then the number of elements in the set
=) =x}n
rgrofo k8 k' = 2k — 5 9080l ey pdnd S = {x: (x7)* = x} &°D durose
“@0;315
Options:

1
1.

[

Question Number : 111 Question Id : 6116304297 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, EBADH Ebmgﬁa

If p and g are statements then ~(p V @) 15 equivalent to

P <0803 g &0 DOITPEn 0B ~(pV q) S Sovg Arde

Options:
(~p) v (~q)

. (p)Aa(~q)

, pvg

, PV (~q)

Question Number : 112 Question Id : 6116304298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DA0H, gAAD s»mgﬁa

A tautology. among the following is

206 o065 2,8 DEFIN0

Options:

1 (pv@)—=(pAQ)

, P2 (@AQ)

&

, PVA) =P

, A —q

Question Number : 113 Question Id : 6116304299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
DAL, 2 BakH Jad &

&5
13 {x € R: —i‘: X < ﬂ} forn =123, ... ... then NZ_{ E, =
N=123 o ODE, = {x €R: == < x < 0} o0 ey NZ E, =
Options:
R
{0}

¢. the empty set
3

(—©0,0)
4

Question Number : 114 Question 1d : 6116304300 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DA0H, gAAD s»mgﬁa

The number of functions from {a, b, ¢, d, e} into {1,2} is
{a.b,c,d e} doc {1,2} &°3 deo Davaire Voadg
Options:

| 28

5 31

16

Question Number : 115 Question Id : 6116304301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2rgSaD Ebmgﬁa

If f(x) = 5 x # —2.then f1(4) =
X+ =28 f(x) = eand f1(4) =
Options:

-3
1.

-5

Question Number : 116 Question Id : 6116304302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DA0H, gAAD a»mgﬁa

The equation of the line passing through (-4. 3) and parallel to the line joining the points
(1.-3)and (-5. 1) 15
Docioey) (-4,3) o Fear, Docoanen (1, -3),(-5,1) v €DD B DavrosdorT

08 DOVB® DAE0E0
Options:

Ix+dv=0
1.

5x+6y+2=0
3 2x+H3y=7

2x+3y=1

Question Number : 117 Question Id : 6116304303 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2gBaD bvmgﬁa

The equation of a straight line passing through the intersection of the lines x+2y-19=0 and
x-2y-3=0 and at 5 units distance from (-2, 4) 1s
ROVGen x+2y-19=0, x-2y-3=0 © 20 Doy ro° T'ar, Doy (-2,4)3 5

ORFIOGBTC0ES” G0 28 DOWOT® DaDSCE0

Options:

v-T=0
i

2x-3y-10=0

-2

3x-8y-1=0

3x-12v-7=

Question Number : 118 Question Id : 6116304304 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DA0H, gAAD s»mgﬁa

sin0° + cos 30° — tan 45° 4+ cosec 60° + cot 90° =

Options:
743-6
243

7V346
= 6

7V3-6

7V345

Question Number : 119 Question Id : 6116304305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA0H, gAAD s»mgﬁa

_ 1 Y )
Ifsing = — 5 and cot @ = —/3 then the minimum value that 6 can take is

sin@ = — >, cotd = —3 eand 6 SwEend £33 Deod

Options:

; 30°

, 150°
5 210°

, 330°

Question Number : 120 Question Id : 6116304306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAL, 2D avmgﬁa

. T g I y a7 y Vi
sin? b sin? e sin? ok sin—

4



Options:
0

[

Question Number : 121 Question Id : 6116304307 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAL, 2D avmgﬁa

Two boys who are on either side of a tower of 100 meters height observe that the angles

of elevation of the top of the tower are 30° and 45°. The distance (in meters) between the
boys 1s

100 208G IO &5y 2.8 39038 TOLIPDO &) AGAP L7e0Mm €3 IDT IS &g
ezeen 307 , 45 7 deDoTedd. €3 ePes Q0G5 GrGo

Options:

| 100(2 ++3)
100(1 —+/3)

, 100(1 +3)
, 100(2—v3)

Question Number : 122 Question Id : 6116304308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2ok avmgﬁa

For a # b. if the quadratic expression x* + ax + b and x? + bx + a have a common
factor. then the relation between a and b 1s

a+h &‘Jg“fﬁmﬂ“m x*+ax+b, x**+bx+a mﬁ}méﬁ‘mmé eratio cofla, be
00 (o 08060

Options:



g=h—1

a=hbh+1

L-2

a+b=1

L

a+b+1=0

Question Number : 123 Question Id : 6116304309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA0H, PgAAD s»mgﬁa

If f(x) and g(x) are polynomials of degrees 3 and 2 respectively then f(g(x)) is of
degree

fx), g(x) e Do aoidoen HORT 3, 2 9008 ) f(g(x)) oo

Options:

1.9

Question Number : 124 Question Id : 6116304310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2rgSaD Emmgﬁa

If two of the factors of the polynomial x* + x® — 10x + 8 are x — 1 and x — 2 then the
third factor 1s

LN x¥+ 2% —10x+838 x—1, x— 2 e 0ok SCOEFoS™) 0N )N

e sedtroo

Options:

; x+4



L-2

Question Number : 125 Question Id : 6116304311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAL, 2B a»mgﬁa

If the remainders when the polynomial f(x) 1s divided by x —1 and x + 1 are 3 and 4
respectively. then the remainder when f(x) is divided by x? — 1 is
28 000 f(x) D x-1, x+1 ©fF rfoom 03y Faren DO 3, 4 wand  f(x) D
x2 — 1 & erfoome Dy 30

Options:

L 7T —x

(7 —x)
~(x=7)

x—=7

Question Number : 126 Question Id : 6116304312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, EBADH vagﬁa

If 5 1s subtracted from each of the two numbers their ratio becomes 1:2. while 1 1s added
to each. their ratio becomes 8:13. Then the difference between those numbers 1s

B0t DoJRESD) PG TP Mol 5 SRV ) DG 1:2 aneod. PG Dogs |
ST oaJrt) D@ 8:13 9D &8 VoDV &
Options:

g
1.~
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Question Number : 127 Question Id : 6116304313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2rgSaD Emmgﬁa

The pomnt (x, ¥) in the plane for which 6x + 6y = 5xy and 6y — 6x = xV 1s
6x + 6y = 5xy , 6y — 6x = xy ecdiwen ol Doty (X, y)
Options:

G3)

1.

[

(2.3)

, £2.-3)

Question Number : 128 Question Id : 6116304314 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAL, 2B av.mgﬁa
=th

: : = th th :
In an arithmetic progression the 8 and 19 terms are respectively 17 and 39. The 25
term of it 1s

2 es0 34" 8 D, 19 & Horew Do 17, 39. esoced” 252 Do

Options:

36

51

L]



Question Number : 129 Question Id : 6116304315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2rgSaD Ebmgﬁa

3 3 ¥
1+E+E+E+“-m_

Options:
1

;. ?

o | m

Question Number : 130 Question Id : 6116304316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2gBaD vagﬁa

3n
The term independent of x in the binomial expansion of (Jr: o —xz) 5

3n
(x—=) 6506 dDaowes® x 62 Ho

Options:

, (3n)¢,

| (). (6n)G,



, (C1"Gn)C,

Question Number : 131 Question Id ;: 6116304317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA oD, 2rgodab b»mgﬁa

20
) . 2 .

The coefficient of x% in (1’ — —) is

X

(x — E)EGESE x® rbreto

x
Options:

20
I Co

20c, 28

-2

Eﬂ{:_ _25
g o

EHCE : 24

Question Number : 132 Question Id : 6116304318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2ok a»mgﬁa

If the system of equations 3x — 2y +z=0. Ax — 14y + 152 =0. x + 2y + 3z = 0 has
non-trivial solution. then A 15 a root of the equation

DDECETe) g0y 3x —2y+z=0. Ax — 14y + 152 = 0. x + 2y + 3z = 0 8 &6
FG G0l A {0 dureon (10 DDEGE0

Options:

| A—44+5=0

L A2 —291+56=0

. A2 +291—1600=0



y A2 —311+58=0

Question Number : 133 Question Id : 6116304319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
DB0D, 2B Jadg &

o5
4 0 0
A=[D 5 D]:A‘L=

0 0 6
Options:
—EGD
4
1
'D_ED
1
IDG_E
00 =
4
1
DEID
1
j_EDﬂ
1
;DD
1
DED
1
3llilll:]lg
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Question Number : 134 Question Id : 6116304320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAL, 2D avmgﬁa

1—cos 4x

x—0 l—cos 2x

lim

Options:



| e

16
25

W | N

22
16

Question Number : 135 Question Id : 6116304321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
DAL, 2 BakH Jad &

el
Ey=.x+y thenj—:l =

= Jx-+y 'E‘_‘JDJJ@—=

Options:
=

N e

1=

2y —1

Question Number : 136 Question Id : 6116304322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2rgSaD Emmgﬁa

If each interior angle of a regular polygon 1s 135° then the number of sides of the
polygon 13

w8 Sa eRruELR” DG ©odos o 1357 wond & pPVZLRS” Zhere Doy
Options:

1.6



Question Number : 137 Question 1d : 6116304323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2rgBaD Eh.mgﬁa

ABCD 1s a quadnlateral and P, Q. R and S are the mid-points of AB, BC. CD and DA
respectively. Then PQRS is a

Seotyzo ABCD &° AB. BC. €D, DA © &6y Hocoyen Smdr P. Q. R ,S. @)y
PQRS 2,8

Options:
square
| D000
rectangle
BGHE0R0

rhombus
Aal) tHEL mgee.c:

parallelogram
RA0B0 DBLAIyE0

Question Number : 138 Question Id : 6116304324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DA0H, gAAD a»mgﬁa

A parallelogram and a triangle have same base and the third vertex of the triangle lies on
the side parallel to base. If the area of the triangle 1s 36 sq.cms then the area (in square

cms) of the parallelogram i1s

28 DATB0 SBVMH0 W8 BEHBAVHD 23 Hr SHH eotar, &8 Shao S0 %‘go
ZHrI0S DaurodddorT &sﬁl Zhaop eotnod. es HEha DTV 36 ©.20.20 es016d

QA0S0 Dt P00 (w.20.0065°)

Options:
18

54

Question Number : 139 Question Id : 6116304325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, 2ok avmgﬁa

The area (in sq. units) of the triangle formed by points (2. 3). (3. 4) and (4. 2) 1s
(2.3). (3.4), (4. 2) 0fF D6 Gzba pFroo(d.ainDees”)

Options:
3

j, 2

ra |

Question Number : 140 Question Id : 6116304326 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DA0H, gAAD b»mgﬁa

PQR 1s a right angled triangle where P and R are the points (2. 4) and (6. 10) respectively
and £Q = 90°. Then the circumcentre of the triangle 1s

POR 2,4 eoe) e azbao. o’ P, R en ddrre (2. 4), (6. 10) e Docoayen.
£Q =90°. &5 HEhao DBDD Sodo
Options:

 (@.6)

(4.9
(3,7

(4, 7)

Question Number : 141 Question Id : 6116304327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

5’0:;.155 avmgﬁa

If the arithmetic mean of a. b. ¢. d and 18 1s 17 then the arithmetic mean of a+2b. b+2c.
c+3d and 2a-1 1s

a.b.c.d e eaps Valfbl 17 esoed a+2b, b+2c. c+3d, 2a-1 & esom G0
Options:

17

28

k-2

49

50
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Single Line Question Option : No Option Orientation : Vertical



Statistical Ability

bu:,%s av.mgﬁa

The median of 462, 378. 448. 364, 528. 486. 534. 386 1s

462. 378, 448. 364, 528, 486. 534. 386 © OG0

Options:

162
] 462

, 448
455

486

Question Number : 143 Question Id : 6116304329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

5’0:;&55 &mgﬁa

The mode of the observations 10, 13. 16, 13.19. 24, 13. 9. 24_ 13, 26 15

HOIwSen 10, 13, 16, 13, 19, 24, 13. 9, 24. 13. 26 © erarovto

Options:
1 26

17

2

13
3

Question Number : 144 Question Id : 6116304330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

3’::3;&55 avmgaa

The standard deviation of five consecutive positive integers is

D0 DR G E;gvg“os"t} Sa000800

Options:



%

!u
L

Question Number : 145 Question Id : 6116304331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

5’0.‘.’;}55 &mgﬁa

The standard deviation of the first five even natural numbers 1s

A0 DEVRO Dard ofen DO

Options:

V2

1.

2V2

[

Question Number : 146 Question Id : 6116304332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

5’0:;.155 avmgﬁa

In the calculation of the rank correlation coefficient (p) of 9 pairs of observations (x;, ;).
it 1s found that the sum of the squares of the deviations of the corresponding ranks 1s 144.
Then p =

9 200 DOF0DeD (x;, V;).0 5 Daroozion s (p) Ao’ o6 easndior &
DIVTO HT°0 Ao 1447 E:305) T°) 6. DD p =

Options:



|

o | un

Question Number : 147 Question Id : 6116304333 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

5’0.‘.’;}55 avmgﬁa

A number is selected from § = {1,2,3,......,30} at random. The probability that the
number has no square factor other than one 1s

S=1123. .. ...30} ol OO CHEN SO 2.8 D0 Doas SIFR.e3 DODIEP 256
By 08 2 B Sereso FE0COEL D02

Options:
13
30

17
30

19
30

23
g R

Question Number : 148 Question Id : 6116304334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability

a»a:,%s avmgaa

P and Q are two sets such that n(P) = 5 and n(Q) = 3. A relation from P to Q 1s selected
at random. Then the probability that the relation 1s not a function 1s

Ooc Ddanaven P, Qe n(P) =5, n(Q) = 3 wobiwtn &s7yow. P dvod Q 5 28

R0E)0630 OITEHIN SO JodE FFMW. & Voiodo w8 PO STEX0CDLL) VoZDIE

Options:
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Question Number : 149 Question Id : 6116304335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
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When two dice are thrown. the probability of getting the sum 9 1s
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Question Number : 150 Question Id : 6116304336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
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Bag I contamns 4 white and 3 black marbles while bag IT contains 3 white and 5 black
marbles. One marble 1s drawn at random from bag I and put in bag IT without seeing 1t.
The probability that a marble drawn from bag II 1s a black one is
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Commumication Ability

Display Number Pane: Yes
Group All Questions: No

Question Number : 151 Question Id : 6116304337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

procrastination

Options:



destination
postponement

innovation

imitation

Question Number : 152 Question Id : 6116304338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Choose the correct meaning of the word given:

erumble

Options:
; explain

complain

plain

humble
4

Question Number : 153 Question Id : 6116304339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

devious

Options:
roundabout

. malicious

wicked

L

skilful

n

Question Number : 154 Question Id : 6116304340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct meaning of the word given:

tepid
Options:

i lukewarm

stretched

-2

; modest

mnactive

Question Number : 155 Question Id : 6116304341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

impromptu

Options:

| upper hand

understanding

unrehearsed

L

A improper

Question Number : 156 Question Id : 6116304342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Choose the correct meaning of the word given:

acquiesce

Options:
fo agree

to wnsult

to soften

to hate



Question Number : 157 Question Id : 6116304343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

The war left a of destruction behind.

Options:
trial

. trail

magnificence

4 benefit

Question Number : 158 Question Id : 6116304344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

She drove around the neighborhood in an/a display of her newly acquired
wealth,

Options:
momentous

—_

, admiringly
orimy

ostentatious

I

Question Number : 159 Question Id ;: 6116304345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

Administration becomes easy if procedures are

Options:
| vitiated

streamlined



5 nullified

, transgres sed

Question Number : 160 Question Id : 6116304346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

Having noticed that erimes were on the rise. the government asked the courts to
their judgment

Options:
1 intimidate

., incapacitate

7 expedite

4 inculcate

Question Number : 161 Question Id : 6116304347 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Choose the correct answer:

The person who purchases or sells shares on behalf of the client 1s a

Options:

bull

- bear

broker

vendor
4.

Question Number : 162 Question Id ;: 6116304348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

PERT stands for
Options:



i Programme Education and Review Technique

. Programme Evolution and Review Technique

; Programme Evaluation and Review Technique

Programme Endorsement and Review Technique

Question Number : 163 Question Id : 6116304349 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

The standard layout on English language kevboard 1s
Options:
| AZERTY

QWERTZ

- PLOVER

Lsd

QWERTY

Question Number : 164 Question Id ;: 6116304350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

CRR stands for

Options:
1 Current Ratio Reserve

Cash Reserve Ratio

Current Ratio Rate

Credit Rating Record

e

Question Number : 165 Question 1d : 6116304351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

The programme used to change assembly to machine language 1s called a/an

Options:
; assembler

comparator

-2

compiler

, interpreter

Question Number : 166 Question Id : 6116304352 Question Type
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

: MCQ Option Shuffling: No Display Question Number : Yes

Which of the following allow a user to add components and capabilities to a system?

Options:
input devices

system boards

expansion slots

ks

storage devices

Question Number : 167 Question Id : 6116304353 Question Type
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Data integrity refers to

Options:
simplicity of data
1.

privacy of data

; validity of data

: MCQ Option Shuffling : No Display Question Number : Yes



security of data

Question Number : 168 Question Id : 6116304354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:
To remove someone from a list of contacts on social networking website 1s called

Options:
unfriending

1.

blocking

deleting

L

uncontacting

=

Question Number : 169 Question Id : 6116304355 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A partner in a business who manages unlimited liability is called

Options:

1 senior parmer

silent partner
sleeping partner

limited partner

I

Question Number : 170 Question Id : 6116304356 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A company’s agreement with a foreign firm for manufacturing its products for royalties 1s

called

Options:
1 exporting



unporting

k-2

. bartending

licensing

I

Question Number : 171 Question Id : 6116304357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A: T hear. you are tripped for promotion.

B: It 1s on the cards.

The conversation implies that
Options:

; B does not agree with A

B agrees with A

B 1s doubtful

(W]

, B is vague

Question Number : 172 Question Id : 6116304358 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

His hard work brought him the reputation of being a cut the rest of his
colleagues.

Options:

upon
1.

k-2

on

against

Lad

above



Question Number : 173 Question Id : 6116304359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A: How big 1s your new house?
B: It 1s hardly bigger than the old one.

In this conversation. B says that

Options:

his new house 1s somewhat bigger than the old one
. s new house 1s just as big as the old one

his new house 1s much bigger than the old one

his old house is bigger than the new one

I

Question Number : 174 Question Id ;: 6116304360 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

*“The CEO 1s coming today. It 1s a red letter day for us™.

The underlined phrase means

Options:
a serious time

a dangerous day

; an important day

, an auspicious day

Question Number : 175 Question Id : 6116304361 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A: No one expected him to stand first: by topping the list he proved to be a dark horse.

The underlined phrase means

Options:



a cheat
a lucky fellow

18 hidden genius

, @ hypoerite

Question Number : 176 Question Id : 6116304362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Please the word in a dictionary.

Options:

| look up

look down

: look after

[EN]

look in

Question Number : 177 Question 1d : 6116304363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer;

I 1ce creant.

Options:

like
l.

am liking

was liking

Ll

have been liking

I

Question Number : 178 Question Id : 6116304364 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blanks with the appropriate word /phrase/verb/preposition:

It will take some time for the wound to

Options:

L heal

. heel

_ hale

(W]

: hail

e

Question Number : 179 Question 1d : 6116304365 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate word /phrase/verb/preposition:

Many of my friends at the funeral.

Options:
| fturned up

turned down

-

5 turned on

turned in
Question Number : 180 Question Id : 6116304366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Fill in the blanks with the appropriate word /phrase/verb/preposition:

Much water has under the Godavari Bridge.

Options:
L flow

flowed

"

flown
3.



flew

Question Number : 181 Question Id : 6116304367 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate word /phrase/verb/preposition:

One should not a man because he 1s not nich.

Options:

1 look down

look upon

look down upon

look down after

Question Number : 182 Question Id : 6116304368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate word /phrase/verb/preposition:

The robbers made with substantial booty.

Options:
away

. above

below
3.

4. of

Question Number : 183 Question Id : 6116304369 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate word /phrase/verb/preposition:

The chairman had to finally to the demands of the employees.

Options:
1 assent



accede

L2

acquicsce

L

come down

Question Number : 184 Question Id ;: 6116304370 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate word /phrase/verb/preposition:

They couldnot refrain illegal activities,

Options:
i with

- above

from

Laa

against

Question Number : 185 Question Id : 6116304371 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate word /phrase/verb/preposition:

India 15 also Bharath.

Options:
| called as

known as

called

known

Question Id : 6116304372 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (186 to 190)



Question Label : Comprehension

Read the following paragraph and answer the following questions

Try walking into an office of any small time entrepreneur, businessman or trader,
chances are that you may find a slogan adorning the reception area — “Customer
satisfaction 1s our motto”. Nothing profound 1n that, many of us have sometimes seen such
slogans prominently on advertisements and billboards for decades. The more business —
savvy types have dispensed with it long ago. categorizing it as cliché and not in the tune
with the tiumes.

What 1s not so clichéd and ordinary 1s the fact that very few of our business
practitioners have actually molded their profession around this philosophy — Knowingly or
unknowingly. Let me explain — have you as a customer been subjected to sales calls by
DSA’s (Direct Sales Agents) of reputable banks proclaiming that you are the luck one
who has been cleared for a loan of some preposterous amount? Yes mdeed. most of us
have at some pomt or the other. You decide to be polite and decline the offer in the most
aftable manner and hope that is the end of vour transactions with the bank’s sales agent.
Think again — high probability that for the next several days you shall get multiple calls
from the sumilar direct personnel of the so-called reputable bank. all offering the same
product that you had declmed just the other day. you may be lucky not to have them visit
your home or office, again offering the same product. When you confront them with the
fact that someone had already approached you from their office earlier with a sumilar
offering and that you have declined it for the umpteenth time. thev feign ignorance and
unashamedly blame it on some internal operational gaffe which they are not responsible
for.

Sub questions

Question Number : 186 Question Id : 6116304373 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Sophisticated business orgamizations removed the slogan because

Options:
everyone follows it

it has been overused

]

everyone knows about it by now

their seniors do not like it being displayed openly

Question Number : 187 Question 1d : 6116304374 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The example the writer gives of business not following what they preach 1s that

Options:



| they are rude to customers

they do not do the work in tume

-2

they transact business with a smile

they continue to harass clients with calls

Question Number : 188 Question Id : 6116304375 Question Type
Single Line Question Option : No Option Orientation : Vertical

: MCQ Option Shuffling : No Display Question Number : Yes

The word that suggests that the offer made through the sales representative is absurd 1s

Options:
; preposterous

, business-savvy

clichéd

L

operational

Question Number : 189 Question Id : 6116304376 Question Type
Single Line Question Option : No Option Orientation : Vertical

The initial reaction of a customer who receives a call from the agent is

Options:

1 anger

warmth

L2

5 shock

Worry

Question Number : 190 Question Id : 6116304377 Question Type
Single Line Question Option : No Option Orientation : Vertical

The writer's main focus here 1s to show how

: MCQ Option Shuffling: No Display Question Number : Yes

: MCQ Option Shuffling : No Display Question Number : Yes

Options:



seriously the sales agents do their work.

caretfully the customer 1s approached.

insensitive companies are to their clients,

tactful the sales representatives are.

Question Id : 6116304378 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)
Question Label : Comprehension

Read the following paragraph and answer the following gquestions

When I first visited Bangalore in the sixties 1t was a garden city. With its parks.
one a forest in the centre of the city. its lakes. its avenues covered with a green canopy of
rain trees. its altitude of three thousand feet above sea-level and the temperate climate that
goes with the height. it became a victim of its own natural assets. At the beginning of the
twentieth century the Indian Institute of Science was founded there and just before
mndependence came the Raman Research Institute. They gave Bangalore a reputation for
excellence 1 science which attracted nationalized hi-tech industries like Hindustan
Aecronautics as well as the private sector. Then followed the IT wallahs. To add all those
pressures post-independence Bangalore also became the capital of one of India’s largest
and progressive states. Bangaloreans who once boasted of their garden city now do not
use that term for obwious reasons. Their homes for the future, fuelled by the city’s
readiness to move on to the national. even international platform. have been belied. at
least for the moment, by thewr mnumerable travails lhike environmental pollution.
haphazard expansion and piece-meal planning.

Sub questions

Question Number : 191 Question Id : 6116304379 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘one’ in the second sentence refers to

Options:
| park

avenuc

L2

3 tree



4. lake

Question Number : 192 Question Id : 6116304380 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What caused the loss of the city’s tranquility?
Options:

L Indian Institute of Science

a reputation for excellence

k-2

innumerable travails

Lad

its own assets

B

Question Number : 193 Question Id ;: 6116304381 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For “obvious reasons’™ implies that the city

Options:
| Was a garden city

had grown extensively
, Wasno longer one

A could accommodate to change

Question Number : 194 Question Id : 6116304382 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following is not one of the current problems mentioned by the writer
about the city he 1s describing?

Options:
environmental pollution

indiscrinunate constructions

k-2

piece-meal planning
3 -



s haphazard expansion

Question Number : 195 Question Id : 6116304383 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one reason does the writer not give for the city to get a reputation for excellence 1n
science?

Options:
1 setting up HAL

starting of multinational companies

[

founding of IIS

starting of Raman Research Institute

o

Question Id : 6116304384 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Question Label : Comprehension

Read the following paragraph and answer the following questions

Union Budget 2018 has been on expected lines. aimed at appeasing farmers and
others in rural areas. as well as small industry. When it comes to most tare proposals. 1t
has disappointed everybody except sentor citizens and Micro. Small & Medium
Enterprises (MSMEs). In its last full budget before the next general elections, the BIP-led
NDA government targets its vote banks in rural areas and the agriculture sector. promising
them a lot. In direct taxes, however. where it was expected bring in a lot of reforms and
exemptions. it has done precious little.

If all classes of tax payers. the salaried employee has been left almost high and
dry with the finance minister announcing there would be no change in the personal
income-tax rates. There was a lot of expectation that the personal income tax exemption
limit would be raised. That has not happened with GST becoming a reality. most citizens
are being made to pay taxes on almost every purchase and in most cases. the taxes are
higher than before. That is why there were expectations that the finance ministers would
put more money into the taxpayer’s hands by lowering personal taxes. None of these has
happened.

Sub questions

Question Number : 196 Question Id : 6116304385 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



According to the passage the Union Budget 2018 has not disappointed

Options:
; salaried employees

., taxpayers
farmers

any citizen

A=

Question Number : 197 Question Id : 6116304386 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the area of direct taxes the budget has done

Options:

a great deal

pretty much

-2

hardly anything

something substantial

Question Number : 198 Question Id ;: 6116304387 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The main reason for citizens ending up payving taxes on almost every purchase is the
mntroduction of

Options:
higher taxes

simplified direct tax laws

k-2

lower personal taxes

Lad

GST

Question Number : 199 Question Id : 6116304388 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which statement 1s true about the budget?

Options:
| It was favorable to senior citizens.

~ It was not favorable to farmers.

It was favorable to personal income tax payers.

A It was not favorable to MSMEs.

Question Number : 200 Question Id : 6116304389 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The expression ‘left high and dry” means

Options:

, left in a high position

left waiting

L2

abandoned

L

~ humiliated

I



71

36
37

72

73

38
39
40

74
75

76
77
78
79
80
81

41

42

43

44
45

10
11
12
13
14
15
16
17
18
19
20
21

46

82

47

83

48

84
85

49

50
51

86
87
88
89
90
91

52

53

54
55

56
57
58
59
60
61

92

22
23
24
25
26
27
28
29
30
31

93

94
95

96
97
98
99
100
101
102
103
104
105

62

63

64
65

66
67

32

68
69
70

33

34
35



176
177
178
179
180
181
182
183
184
185
186
187
188
189
190
191
192
193
194
195
196
197
198
199
200

141
142
143
144
145
146
147
148
149
150
151
152
153
154
155
156
157
158
159
160
161
162
163
164
165
166
167
168
169
170
171
172
173
174
175

106
107
108
109
110
111
112
113
114
115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140



